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The function f is defined by the power series
o . we rebis Gt .
flge-te2e 3, Ll
2773 T4 N+l [ ey
for all real numbers x for which the series converges. The function g is defined by the power series — l
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for all real numbers x for which the series converges.
(a) Find the mter\ a] of convergence of the power series for f l!nfy your answer,
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(b) The graph of y = f{x) - g(x) passes through the point (0, -1). Find 1(0) and y"(0). Determine whether y
has a relative minimum. a relative maximum, or neither at x = 0. Give a reason for your answer.
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The series converges when —1 < x < 1.
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When x = 1. the senies 15 _51'?_11'"'
This series does not converge, because the Limit of the
individual terms is not zero.
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This series does not converge, because the Limit of the
individual terms is not zero.

When x = —1, the series is — +
Thus, the mterval of convergences —1< x < 1.
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Thus, y(0) =% > 0.

Since y'(0) =0 and y(0) = 0. y has a relative mininmm

at x = 0.
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: sets up ratio

: computes limit of ratio

: identifies radius of convergence
: considers both endpoints

: analysis/conchusion for
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